

③ חשב את הנגזרת והשלימו

השלימו את המשוואה:

$$f(x) = \frac{1+x}{1-x} \quad .1$$

$$f(x) = x^2 e^{8x + \cos x} \quad .2$$

$$f(x) = 8(x \ln x - x)^3 \quad .2$$

$$f(x) = x^x \quad .3$$

$$\frac{d}{dx}(\ln x) = \frac{1}{x}$$

$$\frac{d}{dx} a^x = a^x \ln a, \quad \frac{d}{dx} e^x = e^x$$

$$\frac{d}{dx} x^n = nx^{n-1}$$

$$\frac{d}{dx} fg = f \frac{d}{dx} g + g \frac{d}{dx} f$$

$$\frac{d}{dx} f(g) = f' \frac{d}{dx} g$$

* נר. מר. מוסתים - מוסתים - מוסתים

$$f(x) = \frac{1+x}{1-x}$$

$$f'(x) = \frac{1}{1-x} - \frac{(1+x)}{(1-x)^2} (-1) = \frac{1}{1-x} + \frac{1+x}{(1-x)^2} = \frac{1-x+1+x}{(1-x)^2} = \frac{2}{(1-x)^2}$$

$$f''(x) = \frac{-4}{(1-x)^3} (-1) = \frac{4}{(1-x)^3}$$

$$f(x) = x^2 e^{\sin x + \cos x}$$

$$f'(x) = 2x e^{\sin x + \cos x} + x^2 e^{\sin x + \cos x} (\cos x - \sin x) = e^{\sin x + \cos x} (2x + x^2 (\cos x - \sin x))$$

$$f''(x) = e^{\sin x + \cos x} (2x + x^2 (\cos x - \sin x)) (\cos x - \sin x) + e^{\sin x + \cos x} (2 + 2x(\cos x - \sin x) - x^2 (\sin x + \cos x))$$

$$f(x) = 8(x \ln x - x)^3$$

$$f'(x) = 24(x \ln x - x)^2 (1 + \ln x - 1) = 24(x \ln x - x)^2 \ln x$$

$$f''(x) = 48(x \ln x - x) (\ln x)^2 + \frac{24}{x} (x \ln x - x)^2$$

$$f(x) = x^x$$

$$f'(x) = x x^{x-1} + x^x \ln x = x^x (1 + \ln x)$$

$$f''(x) = x^x (1 + \ln x)^2 + x^x \left(\frac{1}{x}\right) = x^x \left((1 + \ln x)^2 + \frac{1}{x} \right)$$

1277

(1)

$$\int \sqrt{x} dx = \int x^{1/2} dx = \frac{2}{3} x^{3/2} + C$$

$$\int \frac{1}{x^2} dx = \int x^{-2} dx = -x^{-1} + C = -\frac{1}{x} + C$$

(2)

$$\int \frac{1+\sqrt{x}}{\sqrt[3]{x}} dx = \int \left(\frac{1}{\sqrt[3]{x}} + \frac{\sqrt{x}}{\sqrt[3]{x}} \right) dx = \int (x^{-1/3} + x^{1/6}) dx = \int x^{-1/3} dx + \int x^{1/6} dx =$$

$$= \frac{3}{2} x^{2/3} + C + \frac{6}{5} x^{5/6} + D = \frac{3}{2} x^{2/3} + \frac{6}{5} x^{5/6} + A$$

(3)

$$\begin{aligned}\sin(a \pm b) &= \sin a \cos b \pm \sin b \cos a \\ 2 \sin a \cos b &= \sin(a + b) + \sin(a - b) \\ 2 \sin\left(\frac{5\pi}{12} + x\right) \cos\left(\frac{5\pi}{12} - x\right) &= \sin \frac{5\pi}{6} - \sin 2x = 0.5 - \sin 2x \\ \sin 2x + 0.5 - \sin 2x &= 0.5 \Rightarrow \text{any } x\end{aligned}$$